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1. Express the given numbers in the form of product

of primes : 48.

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Zu458MZbPw1C
https://dl.doubtnut.com/l/_qd4FGqcdhPvS

2. Express the given numbers in the form of product

of primes : 72.

° Watch Video Solution

3. Express the given numbers in the form of product

of primes : 96.

o Watch Video Solution

4.Find the factors of following : 8z%yz

o Watch Video Solution



https://dl.doubtnut.com/l/_qd4FGqcdhPvS
https://dl.doubtnut.com/l/_Uvrn50vjksmA
https://dl.doubtnut.com/l/_hXSwr9UD8uAq
https://dl.doubtnut.com/l/_LnM8g1pwfJ3g

5. Find the factors of following : 2xy(x+y)

° Watch Video Solution

6. Find the factors of following : 3z + Y’z

o Watch Video Solution

7. Factorize : 16xy + 9y°

o Watch Video Solution

8. Factorize : 25 a’b + 35ab°.


https://dl.doubtnut.com/l/_LnM8g1pwfJ3g
https://dl.doubtnut.com/l/_qKFbhWySepW3
https://dl.doubtnut.com/l/_N7UI0XmVJoip
https://dl.doubtnut.com/l/_PtSx7nRC0Zh2

o Watch Video Solution

9. Factorise : 9a>- 6a.

o Watch Video Solution

10. Factorise : 15a°b — 35ab°.

° Watch Video Solution

11. Factorise : 7Im - 21/mn.

o Watch Video Solution



https://dl.doubtnut.com/l/_PtSx7nRC0Zh2
https://dl.doubtnut.com/l/_kf2RdJ1gf5UN
https://dl.doubtnut.com/l/_fD9OXsB5Hodq
https://dl.doubtnut.com/l/_O0H7rJVTpE7L

12. Factorise : 322 + 622y + 9zy>.

° Watch Video Solution

13. Factorise : 5xy + 5x+4y+ 4.

o Watch Video Solution

14. Factorise : 3ab +3a+ 2b + 2.

o Watch Video Solution



https://dl.doubtnut.com/l/_IncOwqPXWCkD
https://dl.doubtnut.com/l/_zmUmS2ZkYqNM
https://dl.doubtnut.com/l/_7JSvTVLknmDe

15. Factorise : 6ab — b — 2bc + 12ac.

° Watch Video Solution

16. Factorise : 22 + 10z + 25.

o Watch Video Solution

17. Factorise : 1622 — 482 + 36.

o Watch Video Solution



https://dl.doubtnut.com/l/_z0u9bpwpYnOt
https://dl.doubtnut.com/l/_oTCDlwYWVnmD
https://dl.doubtnut.com/l/_ObnvNnvxiB2v

18.25p% - 49¢* =

o Watch Video Solution

19. Factorise : 48a> — 243b°.

o Watch Video Solution

20. Factorise : 2% + 2zy + y? — 422

° Watch Video Solution



https://dl.doubtnut.com/l/_Rd9YXSEiMNys
https://dl.doubtnut.com/l/_Wfe67TJBANfI
https://dl.doubtnut.com/l/_84GTzGIRvJzU

21. Factorise : p4 — 256.

o Watch Video Solution

22.Factorise : m? — 4m — 21.

o Watch Video Solution

23. Factorise : 422 + 20z — 96.

° Watch Video Solution

Exercise


https://dl.doubtnut.com/l/_DF9p9gT08uDo
https://dl.doubtnut.com/l/_awt3v1UPuJS2
https://dl.doubtnut.com/l/_dTnj5fVwqJ6v

1. Find the common factors of the give terims in each

:8%, 24.

o Watch Video Solution

2. Find the common factors of the give terims in each

: 3a, 21ab.

° Watch Video Solution

3. Find the common factors of the give terims in each

: Txy, 3525,

o Watch Video Solution



https://dl.doubtnut.com/l/_kbSPXym7CkpW
https://dl.doubtnut.com/l/_5dco1zgfDbzJ
https://dl.doubtnut.com/l/_kAXILN1J6q1q

4.Find the common factors of the given terms in each

: dm?, 6m?, 8m?.

o Watch Video Solution

5. Find the common factors of the given terms in each

:15p, 20qr, 25rp.

o Watch Video Solution

6. Find the common factors of the give terims in each

: 422, 6y, Sy’


https://dl.doubtnut.com/l/_kAXILN1J6q1q
https://dl.doubtnut.com/l/_TtViZlq30kqh
https://dl.doubtnut.com/l/_hpHXEaIosSTs
https://dl.doubtnut.com/l/_dmqVRHuspJsc

° Watch Video Solution

7.Find the common factors of the give terims in each :

1222y, 18zy>.

o Watch Video Solution

8. Factorise the following expressions : 5x% — 25zy

o Watch Video Solution

9. Factorise the following expressions : 9a* — 6azx.

| o Wiat~h \NiAAa~n CAliikiAan


https://dl.doubtnut.com/l/_dmqVRHuspJsc
https://dl.doubtnut.com/l/_wFyYZs11jp3B
https://dl.doubtnut.com/l/_nLcOTeokAX8f
https://dl.doubtnut.com/l/_aY3CgOlVX937
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10. Factorise the following expressions : 7% + 49pq.

o Watch Video Solution

1. Factorise the following expressions

36a°b — 60a’be.

° Watch Video Solution

12. Factorise the following expressions

3a’bc + 6ab’c + 9abc’.

.


https://dl.doubtnut.com/l/_aY3CgOlVX937
https://dl.doubtnut.com/l/_aYinfxw8VtAT
https://dl.doubtnut.com/l/_tmzL3IQPULUk
https://dl.doubtnut.com/l/_4TbK0jS4fsqT

| ¥ vvatch video sSolution

13. Factorise the following expressions

4p2 + 5pq — 6pq2.

o Watch Video Solution

14. Factorise the following expressions : ut + at?.

° Watch Video Solution

15. Factorise the following : 3ax - 6xy + 8by - 4ab.

o Watch Video Solution



https://dl.doubtnut.com/l/_4TbK0jS4fsqT
https://dl.doubtnut.com/l/_6a1UVCVm7eL5
https://dl.doubtnut.com/l/_JKsAPPsHdaPa
https://dl.doubtnut.com/l/_dRl0r1m4O1Ly

16. Factorise the following : z* + 2z? + 5z + 10.

o Watch Video Solution

2

17. Factorise the following : m* — mn + 4m — 4n.

° Watch Video Solution

18. Factorise the following : a® — a?b% — ab + b°.

o Watch Video Solution



https://dl.doubtnut.com/l/_dRl0r1m4O1Ly
https://dl.doubtnut.com/l/_u3abYUCgfFVF
https://dl.doubtnut.com/l/_JW9nGOKntmDJ
https://dl.doubtnut.com/l/_pI45K7BqtQzj

19. Factorise the following . p2q — pr? — pq + 2.

° Watch Video Solution

20. Factorise the following expression : a® + 10a + 25

o Watch Video Solution

21. Factorise the following expression :1> — 161 + 64.

° Watch Video Solution



https://dl.doubtnut.com/l/_uvb1DbpI268I
https://dl.doubtnut.com/l/_QizkNN6gEppR
https://dl.doubtnut.com/l/_9dfFeuiUwAbC
https://dl.doubtnut.com/l/_8pwosP5nLuHU

22. Factorise the following expression

36z + 962y + 64y°.

° Watch Video Solution

23. Factorise the following expression

2522 + 9y* — 30zv.

° Watch Video Solution

24. Factorise the following expression

25m? — 40mn + 16n>.

o Watch Video Solution



https://dl.doubtnut.com/l/_8pwosP5nLuHU
https://dl.doubtnut.com/l/_2WYce6zXJLSG
https://dl.doubtnut.com/l/_UOmmr5t5JsUa

25. Factorise the following expression

81z? — 198zy + 121y°.

o Watch Video Solution

26. Factorise the following  expression

(z +y)° — dzy.

° Watch Video Solution

27. Factorise the following expression

I* + 4°m? + 4am*.

o Watch Video Solution



https://dl.doubtnut.com/l/_gR8N9zUdXDgd
https://dl.doubtnut.com/l/_Ts5lNzD7rZjS
https://dl.doubtnut.com/l/_ehgT3lDuaPbS

28. Factorise the following : z* — 36.

o Watch Video Solution

29. Factorise the following : 4922 — 25y°.

o Watch Video Solution

30. Factorise the following : m? — 121.

o Watch Video Solution



https://dl.doubtnut.com/l/_ehgT3lDuaPbS
https://dl.doubtnut.com/l/_PWP0OFTcE4Uf
https://dl.doubtnut.com/l/_C6ZIG0DgRekD
https://dl.doubtnut.com/l/_tIwvsENsAyNr
https://dl.doubtnut.com/l/_lR8MjFcn5eEd

31. Factorise the following : 81 — 642

o Watch Video Solution

32. Factorise the following : 2%y — 64.

o Watch Video Solution

33, Factorise the following : 622- 54.

° Watch Video Solution

34. Factorise the following : z* — 81.



https://dl.doubtnut.com/l/_lR8MjFcn5eEd
https://dl.doubtnut.com/l/_OH8XEBjasF0K
https://dl.doubtnut.com/l/_VMUhMAC27M4S
https://dl.doubtnut.com/l/_DgIoO3suwKjy

| ° Watch Video Solution

35. Factorise the following : 2z — 32z°.

o Watch Video Solution

36. Factorise the following : 81z* — 12122

° Watch Video Solution

37. Factorise the following : (p2 — 2pq + q2) — 2

o Watch Video Solution



https://dl.doubtnut.com/l/_DgIoO3suwKjy
https://dl.doubtnut.com/l/_xO2mo0rPzDsn
https://dl.doubtnut.com/l/_e09xya14zpAq
https://dl.doubtnut.com/l/_Y2FUksrKXkNT

38. Factorise the following : (z + y)° — (z — y)°.

° Watch Video Solution

39, Factorise the expressions :lz* + muz.

o Watch Video Solution

40. Factorise the expressions : 7y% + 3522,

o Watch Video Solution



https://dl.doubtnut.com/l/_CvwNvddd7U6Y
https://dl.doubtnut.com/l/_VffTeO9LUmt6
https://dl.doubtnut.com/l/_KlyeWmBEZ3zf

41. Factorise the expressions : 3z* + 6z3y + 9z%z.

° Watch Video Solution

2

42. Factorise the expressions : x° — ax — bx + ab.

o Watch Video Solution

43. Factorise the expressions : 3ax-6ay-8by +4bx.

o Watch Video Solution



https://dl.doubtnut.com/l/_nKrEr2yGkDUI
https://dl.doubtnut.com/l/_YItmUzUDIMSo
https://dl.doubtnut.com/l/_v5x5hGcdZ9IE

44, Factorise the expressions : mn+m-+n+1.

° Watch Video Solution

45, Factorise the expressions : 6ab — b* + 12ac — 2bc.

o Watch Video Solution

46. Factorise the expressions :p2q — pr2 — pq + r2.

o Watch Video Solution



https://dl.doubtnut.com/l/_YQFw7htQyGCb
https://dl.doubtnut.com/l/_tXnZHb6i5xlS
https://dl.doubtnut.com/l/_1gTy3Wk2y4ha

47. Factorise the expressions : x(y+z)-5(y + z).

° Watch Video Solution

48. Factorise the following : z* — y*.

o Watch Video Solution

49. Factorise the following :a* — (b + ¢)*.

o Watch Video Solution



https://dl.doubtnut.com/l/_XTuymRTxAp3G
https://dl.doubtnut.com/l/_BAFgTzrScFoH
https://dl.doubtnut.com/l/_69KG4lMvlDdJ

50. Factorise the following : > — (m — n)®.

° Watch Video Solution

16

51. Factorise the following : 4922 — 5

o Watch Video Solution

52. Factorise the following : zt — 22%y? + ¢t

o Watch Video Solution



https://dl.doubtnut.com/l/_QHyQFfwLVTiu
https://dl.doubtnut.com/l/_9oYksP4KTxkX
https://dl.doubtnut.com/l/_w2qvbTwNrTnk

53. Factorise the following : 4(a + b)*> — 9(a — b)*.

° Watch Video Solution

54. Factorise the following expressions

a’® + 10a + 24.

o Watch Video Solution

55. Factorise the following expressions

2 + 9z + 18.

o Watch Video Solution



https://dl.doubtnut.com/l/_vzEEIErCoJPP
https://dl.doubtnut.com/l/_NlaWvr74UiEu
https://dl.doubtnut.com/l/_xquesi1VqA5a

56. Factorise the following

p> — 10p + 21.

expressions

o Watch Video Solution

57. Factorise the following

z? — 4z — 32.

expressions

° Watch Video Solution

584

58. 70 =
142 —

° Watch Video Solution



https://dl.doubtnut.com/l/_t2HngQ5lIFYT
https://dl.doubtnut.com/l/_93brb7PozX21
https://dl.doubtnut.com/l/_aiIb615Uj4Eq

59. Do the following Division : 43323 — 12zy2.

° Watch Video Solution

60. Divide 30(a2bc + ab’c + abcz) by 6abc.

o Watch Video Solution

61. Divide 39y° (50y° — 98) by 26y*(5y + 7).

o Watch Video Solution



https://dl.doubtnut.com/l/_O7ztO3HePKzP
https://dl.doubtnut.com/l/_yII3SNF3W0ts
https://dl.doubtnut.com/l/_jyYdW3BnOpCS

62. Divide m? — 14m — 32bym + 2.

° Watch Video Solution

63. Divide 42 (a4 — 13a® + 36a2) by 7a(a-4).

o Watch Video Solution

64. Divide = (3:182 — 108) by 3x(x-6).

o Watch Video Solution



https://dl.doubtnut.com/l/_X1jFmVozawGX
https://dl.doubtnut.com/l/_c4PNlenKwfLC
https://dl.doubtnut.com/l/_fpifMUC5wHCT

65. Carry out the following divisions :48a® by 6a

° Watch Video Solution

66. Carry out the following division : 14z by 42

o Watch Video Solution

67. Carry out the following division :  72a%b*¢® by

8ab’c’.

° Watch Video Solution



https://dl.doubtnut.com/l/_P4InzYVFqyuE
https://dl.doubtnut.com/l/_Q9wg0XgaDEN1
https://dl.doubtnut.com/l/_Vc6DNhoDc3PU
https://dl.doubtnut.com/l/_1t1V9yj8ORL4

68. Carry out the following divisions :  "11xy”"2z"3 by

55xyz.

o Watch Video Solution

69. Carry out the following divisions : -54l*m3n? by

92m?n?

o Watch Video Solution

70. Divide the given polynomial by the glven

monomial :(3:1:2 — 2:13) divided x.

o Watch Video Solution



https://dl.doubtnut.com/l/_1t1V9yj8ORL4
https://dl.doubtnut.com/l/_0YSjbIFjt2te
https://dl.doubtnut.com/l/_dXwo4ayFn1i6

71. Divide the given polynomial by the glven monomial

: (5a°b — 7ab®) dividedby ab

o Watch Video Solution

72. Divide the given polynomial by the glven

monomial :(25:1:5 — 151:4) + 5g3

° Watch Video Solution

73. Divide the given polynomial by the glven

monomial: (4l5 —6l* + 8l3) + 212

o Watch Video Solution



https://dl.doubtnut.com/l/_PsFOWTf5EnQb
https://dl.doubtnut.com/l/_CS0titSg5vaZ
https://dl.doubtnut.com/l/_7GKgys3fZK3O

74. Divide the given polynomial by the glven

monomial: 15(a’b’c® — a’b°c” + a’b’*c’) + (3abe)

o Watch Video Solution

75. Divide the given polynomial by the glven

monomial : (3p3 — 9p’q — 6pq2) +~ (— 3p)

o Watch Video Solution

76. Divide the given polynomial by the glven monomial

: ((2/3)a’b’c + (4/3)ab’c®) + (1/2abe)


https://dl.doubtnut.com/l/_7GKgys3fZK3O
https://dl.doubtnut.com/l/_YAtcXkcMS30K
https://dl.doubtnut.com/l/_hQQYGJ1OROJL
https://dl.doubtnut.com/l/_NnpHLSqTJT8n

o Watch Video Solution

77. Workout the following divisions : (49x-63) + 7

o Watch Video Solution

78. Workout the following divisions :12x (8x-20) + 4(2x-

5).

o Watch Video Solution

79. Workout the  following divisions

11a°b°(7c — 35) =+ (3a’b*(c — 5)).


https://dl.doubtnut.com/l/_NnpHLSqTJT8n
https://dl.doubtnut.com/l/_1MybucT3UFMQ
https://dl.doubtnut.com/l/_ihRTXMTw0kfT
https://dl.doubtnut.com/l/_KuYKhRszswWF

° Watch Video Solution

80. Workout the  following  divisions

54mnl(l + m)(m + n)(u + 1) +~ (81mn(l + m)(n + 1))

o Watch Video Solution

81. Workout the following divisions : 36 (x+4)

(2% + Tz + 10) + 9 (x+4).

° Watch Video Solution



https://dl.doubtnut.com/l/_KuYKhRszswWF
https://dl.doubtnut.com/l/_ZB1DYVXsYiHM
https://dl.doubtnut.com/l/_V6ASeVA0DQ7t

82. Workout the following divisions : a(a+1)(a+2)(a +

3) + a(a+3)

o Watch Video Solution

8. Factorize the expressions and divide them as

directed :(:1:2 + Tx + 12)+ (x+3).

° Watch Video Solution

84. Factorize the expressions and divide them as

directed : (z° — 8z + 12)+(x-6).

o Watch Video Solution



https://dl.doubtnut.com/l/_gTCP5DXaYAIu
https://dl.doubtnut.com/l/_zFUycVh5WEbl
https://dl.doubtnut.com/l/_WcmguOREDweY

85. Factorize the expressions and divide them as

directed :(p2 + 5p + 4) + (p+1).

o Watch Video Solution

86. Factorize the expressions and divide them as

directed : 15ab(a2 — Ta + 10) + 3b (a-2).

o Watch Video Solution

87. Factorize the expressions and divide them as

directed : 15im (2p° — 2¢°) + 3 (p+q).


https://dl.doubtnut.com/l/_WcmguOREDweY
https://dl.doubtnut.com/l/_nGOXQ31sDOF2
https://dl.doubtnut.com/l/_9bXPveR98ifr
https://dl.doubtnut.com/l/_cvlXxy2y3W10

o Watch Video Solution

88. Factorize the expressions and divide them as

directed : 262° (322% — 18) + 132%(4z — 3).

o Watch Video Solution

89. Srilekha solved the given equation as shown below
. 3x+4x+x+2x=90, 9x= 90 Therefore x= 10, What could
say about the correctness of the solution? Can you

identify where Srilekha has gone wrong?

o Watch Video Solution



https://dl.doubtnut.com/l/_cvlXxy2y3W10
https://dl.doubtnut.com/l/_rkJiEr5YxHDW
https://dl.doubtnut.com/l/_pN2uLKQtyNrc
https://dl.doubtnut.com/l/_j0Y0My8I3SUZ

90. Abraham did the following for x=-4, 7x=7-4=-3

o Watch Video Solution

91. Harmeet does the divison as (a+5) + 5 = a+1, His
friend Srikar done the same (a+5) + 5 = % + 1, and his
friend Rosy did it this way (a+5) +5=a, can you guess

who has done it correctly? Justify.

o Watch Video Solution

92. Find the errors and correct the following

mathematical sentences :3(x-9) =3x-9.


https://dl.doubtnut.com/l/_j0Y0My8I3SUZ
https://dl.doubtnut.com/l/_o8YhXEasyaLU
https://dl.doubtnut.com/l/_1de4pMOtbpKz

o Watch Video Solution

93. Find the errors and correct the following

mathematical sentences : z(3z + 2) = 3z% + 2.

o Watch Video Solution

94. Find the errors and correct the following

mathematical sentences :2x+3x = 5x°.

o Watch Video Solution



https://dl.doubtnut.com/l/_1de4pMOtbpKz
https://dl.doubtnut.com/l/_XIF0Hl5YsKKf
https://dl.doubtnut.com/l/_Fr8uOXJpljde

95. Find the errors and correct the following

mathematical sentences : 2x+x+3x = 5x.

o Watch Video Solution

96. Find the errors and correct the following

mathematical sentences : 4p+3p+2p+p-9p=0

° Watch Video Solution

97. Find the errors and correct the following

mathematical sentences : 3x +2y = 6xy

o Watch Video Solution



https://dl.doubtnut.com/l/_ZYNjDexgdDmv
https://dl.doubtnut.com/l/_6nZLf7fRS6MB
https://dl.doubtnut.com/l/_nxSAgC8IDvaC

98. Find the errors and correct the following
mathematical  sentences :  (3z)® 4 4z + 7=

3z + 4z + 7.

o Watch Video Solution

99. Find the errors and correct the following

mathematical sentences : (2z)® + 5z = 4x + 5x = Ox.

° Watch Video Solution



https://dl.doubtnut.com/l/_nxSAgC8IDvaC
https://dl.doubtnut.com/l/_DdvDKkYNh67W
https://dl.doubtnut.com/l/_4vlcDKyIMpbY

100. Find the errors and correct the following

mathematical sentences : (2a + 3)*= 2a® + 6a + 9.

o Watch Video Solution

101.  Substitute x=-3 in : z2 + Tr + 12=

(—3)® +7( — 3) + 12.=9+4+12=25

° Watch Video Solution

102. Substitute x=-3 in .x? — B + 6=

(—3)® — 5( — 3) + 6=9-15+6=0

o Watch Video Solution



https://dl.doubtnut.com/l/_m4kY1qDnf390
https://dl.doubtnut.com/l/_ydgEb9xldsVP
https://dl.doubtnut.com/l/_YWsVAsP79uuX

103. Substitute x=-3 in : 2 + 5z — ( — 3)%+5 (-3)+6'

=-9-15=-24

o Watch Video Solution

104. Find the errors and correct the following

mathematical sentences : (z — 4)°=z? — 16.

o Watch Video Solution

105. Find the errors and correct the following

mathematical sentences : (z + 7)2332 + 49.


https://dl.doubtnut.com/l/_YWsVAsP79uuX
https://dl.doubtnut.com/l/_cg3PbrKuLbcn
https://dl.doubtnut.com/l/_arxFqRZ8RZDx
https://dl.doubtnut.com/l/_F1MVEOtOFga3

o Watch Video Solution

106. Find the errors and correct the following

mathematical sentences : (3a + 4b) (a - b) 3a® — 4a’.

o Watch Video Solution

107. Find the errors and correct the following

mathematical sentences : (x+4)(x+2) = z2+8.

o Watch Video Solution



https://dl.doubtnut.com/l/_F1MVEOtOFga3
https://dl.doubtnut.com/l/_NI2fM2IC38Ez
https://dl.doubtnut.com/l/_M8WQr2qZQIQe

108. Find the errors and correct the following

mathematical sentences : 5z3+523=0.

o Watch Video Solution

109. Find the errors and correct the following

mathematical sentences : 223 + 1+ 223 =1

° Watch Video Solution

10. Find the errors and correct the following

mathematical sentences : 3x + 2+ 3x = 3—
T

o Watch Video Solution



https://dl.doubtnut.com/l/_XkVk36fC9Hxf
https://dl.doubtnut.com/l/_KBE3zK0H4jxY
https://dl.doubtnut.com/l/_83onsOOs6N8F

1M1. Find the errors and correct the following

mathematical sentences : 3x + 5+3=5

o Watch Video Solution

12. Find the errors and correct the following

4z + 3
= X+1

mathematical sentences :

o Watch Video Solution

113.a% -2ab +b? =


https://dl.doubtnut.com/l/_83onsOOs6N8F
https://dl.doubtnut.com/l/_treaIGAitIlo
https://dl.doubtnut.com/l/_Yf6IhyrPfa5b
https://dl.doubtnut.com/l/_axr4G9pbgBgv

Answer:

° Watch Video Solution

1M4.2 X 2 X 2 X 2 X 2 X 3isaprime factorisation of

A. 48

B.72


https://dl.doubtnut.com/l/_axr4G9pbgBgv
https://dl.doubtnut.com/l/_mRGCzGXh4LFM

C. 96

D. 84

Answer:

o Watch Video Solution

115. Common factors of 6xy, 9y2

A3,y
B. 6, y2
C.3, >

D.3,x, ¥y


https://dl.doubtnut.com/l/_mRGCzGXh4LFM
https://dl.doubtnut.com/l/_Xs2U0zuTLrxp

Answer:

o Watch Video Solution

116. Factorise : 15a°b - 35ab°

A. 5(a’b - 7ab%)
B. 5ab (3a? - 7b°)
C.5a%b (3a% - 7b”2)

D. 5ab (3a® - 7b)

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_Xs2U0zuTLrxp
https://dl.doubtnut.com/l/_BWqPBnMycPMQ

117. Factorise : ax + ay + bx + by

A (x+a)(y+b)

B.(x+y)(a+b)

C.(x+b) (y+a)

D. (xy + ab)

Answer:

o Watch Video Solution

118. Factorisation of : =2 + 10x + 25


https://dl.doubtnut.com/l/_i5V2MdqsPiww
https://dl.doubtnut.com/l/_u0w9WJExYdbl

A. (x+5) (x+5)

B.(x+2)(x+5)

C.(x+5) (x+3)

D.(x+4) (x+5)

Answer:

° Watch Video Solution

119.25p° -49¢* =

A. (5p + 7q)2

B. (5p — 7q)*


https://dl.doubtnut.com/l/_u0w9WJExYdbl
https://dl.doubtnut.com/l/_3ClD1Q35YDre

C.(5p +7q) (7q - 5p)

D.(5p +7q) (5p - 7q)

Answer:

o Watch Video Solution

120.(p + 4) (p - 4) (p* + 16) =

A.pt-256
B.p” - 128
C.(5p +7q) (5p 7q)

D. p® - 256


https://dl.doubtnut.com/l/_3ClD1Q35YDre
https://dl.doubtnut.com/l/_m9xOTm6DhTxr

Answer:

o Watch Video Solution

121. Factors of 2% + z(a + b) + ab=

A (x+a)(x-b)
B.(x+a) (x+Db)
C.p? - 256

D.(x-3) (x+b)

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_m9xOTm6DhTxr
https://dl.doubtnut.com/l/_GizzeU4ltNQm

122. 4802 + 243b2 =

A.3 (4a +9b) (4a-9b)

B. 3 (4a + 9b)

C.(x-a) (x-b)

D. none

Answer:

o Watch Video Solution

123. Factorise : m2 — 4m — 21.


https://dl.doubtnut.com/l/_sU5nVBsJ8mZ2
https://dl.doubtnut.com/l/_N7ugoyv2SHam

A (m + 3)
B.(m+7) (m-31)
C.3 (3a+4b) (4a-9b)

D.(m-7) (m + 3)

Answer:

° Watch Video Solution

124. Factorise : 4z> + 20x — 96.

A. (x + 8) (x-3)

B.4 (x+8)(x-3)


https://dl.doubtnut.com/l/_N7ugoyv2SHam
https://dl.doubtnut.com/l/_ofWhpLrLoB0j

Answer:

o Watch Video Solution

CE4

125.70 -
1472

A. 5X

B.5x 3

C.(x-8) (x+ 3)

D. 522


https://dl.doubtnut.com/l/_ofWhpLrLoB0j
https://dl.doubtnut.com/l/_vicH2SZpFhzC

Answer:

o Watch Video Solution

126. (6a” +30a) /(a+5) = __

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_vicH2SZpFhzC
https://dl.doubtnut.com/l/_idh1ci7D3Cbr

. 6x* + 10z3 + 8x2
' 212 —

12

A. 322 -5x + 1
B.3xz2 + 5x + 4
C a
"3

D. 22 +5x + 1

Answer:

° Watch Video Solution

128. Divide 30 (azbc + ab’c + abc2) by 6abc.


https://dl.doubtnut.com/l/_yrMx09xpudWB
https://dl.doubtnut.com/l/_7UiPlD3mG92U

A 5(a+b+c)

B.6(a+b)

C.z2-5x+ 1

D.3(a-b)

Answer:

° Watch Video Solution

129. Divide z (3z* — 108) by 3x(x-6).


https://dl.doubtnut.com/l/_7UiPlD3mG92U
https://dl.doubtnut.com/l/_Hkw6QqRSWdgw

Ca+b+c

D.6-x

Answer:

o Watch Video Solution

130. (m"2—14m — 32m)+2 =___
A m-3
B.m+6
C.x+6

D.m-16


https://dl.doubtnut.com/l/_Hkw6QqRSWdgw
https://dl.doubtnut.com/l/_qRP1y4jLs0nL

Answer:

o Watch Video Solution

131. Factorise : 1622 — 48z + 36.

A 4 (22 — 3)°

B. (2z — 3)°

Cm-6

D. None
Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_qRP1y4jLs0nL
https://dl.doubtnut.com/l/_6ngVzbeHYhEA

132.3z% + 6w2y +9xy” = L

A. 3x (x - 2y)
B. 3 (2x + 3xy)
C.(4z — 3)*

D. 3x (x + 2xy + 3y2)

Answer:

o Watch Video Solution

133.25a°b + 353b° =


https://dl.doubtnut.com/l/_lEAS7lau5u2K
https://dl.doubtnut.com/l/_3zTxzi4TwVZj

A. 5ab (5a + 7b)
B. 5ab (a - 2b)
C.3x(x+y)

D.5a%b% (a-b)

Answer:

o Watch Video Solution

134.6ab + 12b =

A.6(a+2)

B.6b (a + 2)


https://dl.doubtnut.com/l/_3zTxzi4TwVZj
https://dl.doubtnut.com/l/_LDQncXVwZ5uG

C.5ab (a-b)

D.b (a -z)

Answer:

° Watch Video Solution

135. Prime factorisation of 72is_ ?

A 2% x 32

B.32x2

C.ab-6

D. 8 x 162


https://dl.doubtnut.com/l/_LDQncXVwZ5uG
https://dl.doubtnut.com/l/_dMBSFFt2ei0P

Answer:

o Watch Video Solution

0
136. %(a} — 4) =

A.O
B.6

C.3x9?

D.10

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_dMBSFFt2ei0P
https://dl.doubtnut.com/l/_sNJawroSeg92

137.(x + 3) (x + 6) =

A. 22 - 3x

B.z2 + 9x + 18

C.x-3932

D. None

Answer:

o Watch Video Solution

138. 11zy%23 /bbxyz =


https://dl.doubtnut.com/l/_g079NqnSw0Hv
https://dl.doubtnut.com/l/_ISBHQnvGRWiP

AA)z/ 1y
B.B.) 5z /«x

C.Cly/z

D.D.) yz2 /5

Answer:

° Watch Video Solution

139. 122 + mx =

A.x*2 (m +x)

B.x (Ix + m)


https://dl.doubtnut.com/l/_ISBHQnvGRWiP
https://dl.doubtnut.com/l/_GJb3PAwJHrHU

C.x+1Im

D.l (x+m)

Answer:

o Watch Video Solution

140. Expansion form of (I — 8)% =

A A) %2 — 161 + 64
B.B)I?> — 8 + 8
c.c)l— 16> +0

D.D)I* — 16


https://dl.doubtnut.com/l/_GJb3PAwJHrHU
https://dl.doubtnut.com/l/_JLlkz95zFNB5

Answer:

o Watch Video Solution

141. The Value of 812 - 3% =

A .A) 81

B.B.) 16

c.c)0

D.D.) 24

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_JLlkz95zFNB5
https://dl.doubtnut.com/l/_cHQnB00pSZqc

Answer:

o Watch Video Solution

143. The Value of (a + b)® — 3ab(a + b) =


https://dl.doubtnut.com/l/_KJcI72v1yMvY
https://dl.doubtnut.com/l/_apF5K78nysvm

Answer:

o Watch Video Solution

144. The Value of (8.47 x 8.47 — 1.53 x 1.53)

/6.94 =

A.A) 16



https://dl.doubtnut.com/l/_apF5K78nysvm
https://dl.doubtnut.com/l/_33cv1WaBsDdS

B.B.) 10

C.C) 30

D.D) 11

Answer:

o Watch Video Solution

145. (3z — 2y)* - (32 — 2)° =

A 2xy2


https://dl.doubtnut.com/l/_33cv1WaBsDdS
https://dl.doubtnut.com/l/_0sFsEzuxBlev

D.O

Answer:

o Watch Video Solution

146.4x + 1is a factor of

A. z2-16

B.16x -3

C.10x -3

D. 1622 - 1

Answer:



https://dl.doubtnut.com/l/_0sFsEzuxBlev
https://dl.doubtnut.com/l/_37dyMbwDzrUE

‘ o Watch Video Solution

1
~
1

1
147. (2a + 1 ,
7.2+ ) (g, )=

A. -1
B.-3
C.1

D.?2

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_37dyMbwDzrUE
https://dl.doubtnut.com/l/_iovoO2BHsUKN

148. 2% -7 =

Aa)(x+7)(x-7)

B.b) (x + 4/7) (x-/7)
C.c) (x-3) (x+4)

D.d) None

Answer:

o Watch Video Solution

1 5 1
149.x + — =6then z° + — =
I mz


https://dl.doubtnut.com/l/_fGgcmJGV3HPt
https://dl.doubtnut.com/l/_C2uwnxLG2LLh

A. 19

B. 16

C.34

D.10

Answer:

o Watch Video Solution

150.x=2, z* + (1 /%)

A. 16.06

B. 257


https://dl.doubtnut.com/l/_C2uwnxLG2LLh
https://dl.doubtnut.com/l/_YS3GZeZagEqz

C. 107

D. 192

Answer:

° Watch Video Solution

151.a*-81=_

A.(a-3)(a+3)(a®+9)
B.(a — 3)* (a® +1)
C.(a—3)* @+

D. None


https://dl.doubtnut.com/l/_YS3GZeZagEqz
https://dl.doubtnut.com/l/_3l79HkDNeJg4

Answer:

o Watch Video Solution

152.7a (5x - 3y) + 5b (5x -3y) =

A. (5x-3) (7a-5)

B. (5x - 3y) (7a + 5b)

C.(5x-3) (4x-1)

D. (5x -y) (7x - 3)

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_3l79HkDNeJg4
https://dl.doubtnut.com/l/_ZNWHH8E5TSk4

153.ar + br + at + bt =

A (r+t)(b+a)

B.(r-t) (r +a)

C.(r+t) (r+a)

D.(r-t)(a-b)

Answer:

o Watch Video Solution

154.(6+p+q)(6-p-q)=_


https://dl.doubtnut.com/l/_2CXU4z8NbH4x
https://dl.doubtnut.com/l/_aGkLOTuVKoHP

A.36-p’ -¢* - 2pq
B.36-2p + ¢
C.36-2p-2q

D.36-102-q2

Answer:

° Watch Video Solution

155.92% - 256 =

A. (3z + 16)°

B. (3x + 16) (3x - 16)


https://dl.doubtnut.com/l/_aGkLOTuVKoHP
https://dl.doubtnut.com/l/_JVEUGUBGiXs4

C.(3z — 6)°

D.(x-16) (3x-1)

Answer:

o Watch Video Solution

156. (3a — b)* -9¢? =

A.(3a +b) (3c-b)
B.(3a-b+3c)(3a-b-3¢)
C.(3a —b—c)?

D.(3a-b-3c)(a-b)


https://dl.doubtnut.com/l/_JVEUGUBGiXs4
https://dl.doubtnut.com/l/_g9YSjz3tFqv7

Answer:

o Watch Video Solution

157.(8 +x) (14 X) = _

A121- (2 — 3)°

B.12- (z — 3)°
2
C.12-(x — 31)
2
D.11-(z — 12)
Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_g9YSjz3tFqv7
https://dl.doubtnut.com/l/_DRvtvhNuEuk5

158. Factorise the following : z* — y*.

Az —y)*-xy
B.(x +y) (x-yz)
C.(z* +y?) (2% - %)

D. (x + yz) (:1:2 +y)

Answer:

o Watch Video Solution

159. (4x + 51y + 1) (4x + 51y -1)


https://dl.doubtnut.com/l/_y4SnoC6ko1mW
https://dl.doubtnut.com/l/_BRb0Q8Ab4tUm

A. (4z — 5y)*

B. (42 — 5)*

C.(3z — y)°

D. None
Answer:

o Watch Video Solution

160. (x - ) /(\/_ _ ﬁ) -

AN+ Y
B./z-y


https://dl.doubtnut.com/l/_BRb0Q8Ab4tUm
https://dl.doubtnut.com/l/_bqr2NAcslzHP

C.x-\/g_/

D.1-y

Answer:

° Watch Video Solution

2 2
161. (3001 / 6) - (2999 / 6) =

A.3331/3
B.3431/2

C. 243
T2

b.712
T2


https://dl.doubtnut.com/l/_bqr2NAcslzHP
https://dl.doubtnut.com/l/_GYXLNPuV2ImH

Answer:

o Watch Video Solution

162.2¢ x 3=

A. 481

B. 48

C.78

D. 92

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_GYXLNPuV2ImH
https://dl.doubtnut.com/l/_OWlyxjzAjD8b

163.3 + 2(9) =

A 11

B. 21

C.16

D.19

Answer:

° Watch Video Solution

164.2° x 3=


https://dl.doubtnut.com/l/_fWCWaePrx9uY
https://dl.doubtnut.com/l/_bOiOkYM4zRxm

A.90

B. 31

C. 96

D. 69

Answer:

° Watch Video Solution

165. Identify true statement.

A3(x-1)=7

B.3(x-4)=3x-3


https://dl.doubtnut.com/l/_bOiOkYM4zRxm
https://dl.doubtnut.com/l/_lpIOxRwXqkri

C.(x—1)7%=9

D. z? - 3xy

Answer:

o Watch Video Solution

166. (z + 8)* =22+ +64

A. 6X
B. 4x

C.16x

|8


https://dl.doubtnut.com/l/_lpIOxRwXqkri
https://dl.doubtnut.com/l/_MCoBsE3UspsV

Answer:

o Watch Video Solution

167.(b + 1) (3a +2) =

A.3ab-2b +1

B.3ab -2

C.3ab+2

D.3ab+3a+2b+2

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_MCoBsE3UspsV
https://dl.doubtnut.com/l/_UTPdhC4MOvH9

168.(a® +5)+a’ +5 =

A4
B.5
C.1

D. 2

Answer:

o Watch Video Solution

169. Common factors of 8x, 24 are


https://dl.doubtnut.com/l/_YRFaobWy1shR
https://dl.doubtnut.com/l/_Q7sjDaiWFSsA

A 1,2, X

B.2,4,x

C.2,4,8

D.8§,4,3

Answer:

° Watch Video Solution

170.(m-n) (m+4) =

A.m2-n

B.m2-mn+4m-4n


https://dl.doubtnut.com/l/_Q7sjDaiWFSsA
https://dl.doubtnut.com/l/_WhZslawSYtbQ

C.m+n2

D.m?%-4mn + 1

Answer:

o Watch Video Solution

171t (u+at)=_

A. ut + at?

B.t + at?

C.t-at?

D. ut - t2


https://dl.doubtnut.com/l/_WhZslawSYtbQ
https://dl.doubtnut.com/l/_AscALM56FMFk

Answer:

o Watch Video Solution

172.(49x - 63) + 7 =

A 7x +1

B.7x-9

C.x+3

D.x-79

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_AscALM56FMFk
https://dl.doubtnut.com/l/_P8Dh4It8OiXs

173.x -y =

A-x\/y-1
B.(VZ - /D) (V& + /D)
C. (x-/y) (x- /)

D. (sqrt(x)— y) 2

Answer:

° Watch Video Solution

174.02 -b*=


https://dl.doubtnut.com/l/_95fJVnGnDRMq
https://dl.doubtnut.com/l/_uQ4IGM2r2tiV

A (a-b) (a-b?)
B.(a+b)(a+1)
C.(a-b) (a®-1)

D. None

Answer:

o Watch Video Solution

175.(x + 2) (x* +5)=

A 23 +22% +5x+ 10

3

B.x -:132-5x+1


https://dl.doubtnut.com/l/_uQ4IGM2r2tiV
https://dl.doubtnut.com/l/_R3gW9Xbw4OLU

C.x3-7x2+3

D.z3-3x+7

Answer:

o Watch Video Solution

176. 1423 + 4222 =

A3/x
B.1/x

3
C. —
T

D.z/3


https://dl.doubtnut.com/l/_R3gW9Xbw4OLU
https://dl.doubtnut.com/l/_7gVwoTjVZdsy

Answer:

o Watch Video Solution

177. 1f we divide z%a - 1 by % -1we get

C.x+a

D.z% +1

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_7gVwoTjVZdsy
https://dl.doubtnut.com/l/_xt9p7PwCCQYd

1 1 1
178. If z° + (—x"Z) =62 then x + — = x+ — >
r T

0)
A.3
B.8
C.4

D.6

Answer:

o Watch Video Solution

179. 2% -1+x-3=__



https://dl.doubtnut.com/l/_MAdHaTkscrap
https://dl.doubtnut.com/l/_eR4RpQVqOqW0

A x3-1
B.x+1
C.(z —2)°

D. None

Answer:

° Watch Video Solution

180. 18a202 — = -
— 6abc

A.-3ab

B.- (ab/c)


https://dl.doubtnut.com/l/_eR4RpQVqOqW0
https://dl.doubtnut.com/l/_RBAfzLJeVPAp

C.abc?

D. ab

Answer:

o Watch Video Solution

181. The degree of a polynomial is 6 and the degree of
other polynomial is 2 then the degree of the sum of

the both polynomials is

A2

B.4

C.8


https://dl.doubtnut.com/l/_RBAfzLJeVPAp
https://dl.doubtnut.com/l/_HMooRezDcBhg

D.6

Answer:

o Watch Video Solution

182. (92 -12x - 12 ) + (3x+2)=__

A 3x+1
B.3x-6
C.6x-1

D.6x-3

Answer:



https://dl.doubtnut.com/l/_HMooRezDcBhg
https://dl.doubtnut.com/l/_2pOHDXs048K1

‘ o Watch Video Solution



https://dl.doubtnut.com/l/_2pOHDXs048K1

